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Inverse Relationships (3)

Instructions: Use the information given to fill in each box.

= 3 3+ = 3 0 +
2 = 3 - 0 = 3 - 3
= 3 1+ = 3 0 +
2 = 3 - 2 = 3 - 3
= 3 3+ = 3 0 +
1 = 3 - 0 = 3 - 3
= 3 0 + = 3 1+
2 = 3 - 3 = 3 - 2
= 3 0 + = 3 0 +
3 = 3 - 3 = 3 - 3
= 3 3+ = 3 0 +
0 = 3 - 0 = 3 - 3
= 3 3+ = 3 2 +
3 = 3 - 0 = 3 - 1
= 3 0 + = 3 2 +
2 = 3 - 3 = 3 - 1
= 3 2 + = 3 2 +
3 = 3 - 1 = 3 - 1
= 3 3+ = 3 2 +
1 = 3 - 0 = 3 - 1
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Inverse Relationships (3) Answers

Instructions: Use the information given to fill in each box.

2 |= 3 3 + 0 [= 3 0O +| 3 3
2 = 1 3 - 0 = 3 3 - 3 0
2 |= 1 + 2 |= 0 +| 3 3
2 = 1 3 - 2 = 1 3 - 3 0

= 3 3 +# 0 |= 3 0O +| 3 3

=l 2 3 - 0 = 3 3 - 3 0
2 |= 0O + 3 = 3 1 +| 2 3
2 = 1 3 - 3 =0 3 - 2 1
3 |= 3 0O + 3 |= 3 0O +| 3 3
3 = 0 3 - 3 = 0 3 - 3 0
0 |= 3 3 +# 0 |= 3 0O +| 3 3
0 = 3 3 - 0 =3 3 - 3 0
3 |= 3 3 + 0 [= 3 2 + 3
3 = 0 3 - 0 = 3 3 - 2
2 |= 0O + 3 (= 3 2 + 3
2 = 1 3 - 3 =0 3 - 2
3 |= 3 2 + = 3 2 + 3
3 = 0 3 - =l 2 3 - 2

= 3 3 + 0 [= 3 2 + 3

=l 2 3 - 0 = 3 3 - 2

Free Math Worksheets at http://www.math-drills.com




